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ECONOMICS
( Major )
Paper : 93

( Introduction to Environmental Economics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
frct=r foan el ot facaRe Seg B -
(a) What is free riding?

Te @R 2
() What do you mean by green
accounting?
1SS il feieat 1% g3 2
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(2) (3 )

(c) When does ‘environmental crisis’ _ (g) Marginal Social Cost = Marginal
occur? Private Cost +

( Fill in the blank )

“Afacaeg A’ @fenr Teq =7 2 ) 4
qifgs Sfes @@ = e Ifese T

(d) A good or bad that is both rival and Y l :
excludable is a —— good or bad. (=1 97 o[ 790 )
[NERLn, e Dlafled 2. Answer the following questions : 2x4=8
aRy v 1 SEeEe fior e dfew @l T 2PPTRA Ted A
qF qEAE G0l TF 9B —— T 4l §
wfeEaal | (@) “Environment is a public good.
Comment.
- ~
(3190 2R <1 <=1 ) ’ i 37 @y e v 177 w0
e} Envi nental d ; > ,
(e) p::;;gﬂxmen egradation creates ' (b) Distinguish between public good and
E public bad.
( Write True or False ) qeRdl 9 HF Qe EInESIEEE e
5 1]
oA e e 5 w7 | I e
ic
(©7 & wrem &4 ) ‘ (c) Mention two advantages of econgrtl
incentives over command and €
(f) Give an example of public bad. T approach. N
‘ e O fEme AR
gl SFEFRE Gt Tnzae fan SeqCe e Yol SRer Sead 74 |

: - Turn Qver
A7/342 ( Continued ) AT/342 { )



(=) (S)

(d) Why, in recent years, environment is | (e) Give an outline of the recent global
considered as a partner of an environmental problems.
economy?
TET S AR Y s weE@fea TEAFR (SR AAfacEEE STUeTEa @bl
SR (1R80) 31t i T = e wife 2 o
3. Answer any three from the following
questions : 5x3=15 4. Answer the following questions :  10x3=30
T PTRa i e feform T o o PR Tea fa
(a) What are the aims and objectives of
environmental economics? (a) Explain how material balance model
RET SR T W S shows interlinkage between economy
£ 9 and environment. 10
(b) Mer;tion the characteristics of public TR el WEE @eRd Wy ==
§00¢. ARCR B2~ (PR, AT 51 |
qeredl T CAMERTR SEy 4 |
(c) What causes lead to market failure in Or/ 33«1
an economy?
R T 95 SefAfes T@q fwerer Wy dee the Sases responsible fov
% % 2 climatic change? What steps have
: internationally and nationally been
(d) “Environmental Kuznets curve is taken to mitigate this problem? 5+5=10
inverted U shaped.” Why?
“Affc i FEREON @Al el U TR AR A T SRR 2
i‘-ﬂlﬁﬁi\s?i 1”? &9 G2 I FEEE A B CFOE S ?.@iz.l
opfirs 5 6 59z a2 91 (20 2
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(6) (7))

(b) What.do you mean by externality? . Or/ =2l
Explain various types of externalities.
2+8=10 “There are three types of economic

incentives.” What are those? Explain. 10

qereel e & ogmie fafen goRe

e qE2 & |

Or/ ST

“weTies weamen R R 1 GlRceEh
s o 2 iz foren o

* K A

Mention the features of common
property resources. Explain the
concept ‘tragedy of commons’. ~ 5+5=10

NG Fefesre oma CAErTR e
G O W | 1 s i o B | e U B
qRenfo &zt |

(c) Critically discuss the command and
control approach as a policy of
pollution control. 10

o frmem @t TS Rogy @ o
AR dmfeq <6 STRAGARG  SCEGA
SSECERT |
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